[image: image1.jpg]Aol D
HEWAS] . ays ST vemesm [T ..
LSS'6E| 908°6.6| 906°510°L WM
. 908‘6.6 | 906'51L0°L | GOL‘PS- EZLBHHIH
9L.'c8¢ 652°0£9-| 001°9¢-| L20%0S0°L OHEIHY
000°0TL‘T | T9L'SLOT 89€°L8L | 066'8L | €0¥°60T HEEHRE
000°00T | X
000°008 | 098°SEL 098°5€L EREH
000°00€ | 000°LET 000°€C 000t 11 B2ES
000°S 0009 0009 28T
000°0% 819°9¢C 910C | 0S9°€T | CIOIT =1
000°T 2EX
000°T 2HE
000°ST 0ZLY 0ZLY SRR
000°8% LSS8% 010°0 | L¥S°8 HEWNE
000°T1 00011 (T¥EYU AUNES
2=
000°9¢ €ITY ILVT | 0g€ TI¥T BEE
000°0% €ELT 1T TILT B2EHX
000°¥2€ | 000°66 000°ST | 000°ST | 000°6% BEY
 HHE
000°0TL‘T | LLV 6SH'T EIT'LST | 068°TH | pLF'6ST'T FEXSAVS )
000°00T | 08T°S01 081°G01 | 06 01 (- [HER) W E
000°00T | ¥90°6C 00081 | +90°TT EIER
000°00C | 008°9% 009°cE | 008v | 00%°S HEES
000°01C°T | £€€°80T°T €€€°8 | 000°0C | 000°081°1 BEBTH
000001 | 000°0L 000°0T 000°09 28Y
: B B
EEL =2 |HZTH |H—F | H+ Hl H\/ H= H¥ HI H hd H= H— H— H {4
R L FMHDTS  HE - Yh=01

=AVE SEIE SRR RIS S





